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clear; clc
x=0:0.1 :1;
y = [ -0.447, 1.978,3.28, 6.16, 7.08, 7.34, 7.77, 9.56, 9.48,
9.30,11.2] ;
n=2;
p =polyfit (x , y , n)
P=
-9.9262 20.2547 -0.0440
p(x)=-9.9262 (P 23 Baxa euly Aaa ania sa pOIYFit Sl & )

Alabad) blas 58a5 ) x%+20.2547 x-0.0440
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clear; clc

x =0 : 0.1 :1;

y = [ -0.447 , 1.978 ,3.28 , 6.16¢ , 7.08 , 7.34 , 7.77 , 9.56 , 9.48
, 9.30 ,11.2 ] ;

p =-9.9262*x.%2 +20.2547*x -0.044;
plot (x,y)

hold on

plOt(lel'I_')

hold off
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E Editor - ChUsers\ALND ocuments\MATLAB  quadeq.m

_| quadeq.m [ 4 |
1 function y=gquadeg(x,a,b,c)
2= y=a*x"2+b*xtc;

2= end
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(quadeq Wlic 3) 48 yeall Al an) ity s m-file Laay Calall Jaday ccalall Jaaad 3385 Ul a1 2
Leas 23 31 jall aiill command window J) 4dl 8 iSs 3
>>y=quadeq (2,3,4,5) Enter zlide Jle bl &5 4
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Command Window

== guaad

Not enough input arguments.
Error in gonad (line 2)
f=a*x"2+hb*x+c;

= y=guadeqg (2,3,4,5)
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(factorial ) 22 (sl & sSia Al el Iz 2Kk
function fa=fact (n)
1if n<=1
fa=1;
else

fa=n*fact (n-1);
end

(fact JUiall 138 (3) 48 paall Al pud ey m el Cilall Jada o5 Run (e Joiad gl
command window ) 48L& & S B
>> fa=fact(5)
fa=

120
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function T=mark (ME, FE)

ME=input ('please input the mark of monthly exam='");
FE=input ('please input the mark of final exam="');
T=ME+FE;

if T<50; disp('Poor')
elseif T<60 disp('Accepted')
elseif T<70 disp('Medium')
elseif T<80 disp('Good")
elseif T<90 disp('Very Good'")
else ; disp('Excellent')
end
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mark.m | + |

|
1 function T=mark (ME,FE)
2 - ME=input ("please input the mark of monthly exam="'};
== FE=input ("'please input the mark of final exam="}};
4 - T=ME4FE;
Si= if T«<50; disp('Foox')
& — elseif T<e0 disp('Rccepted')
7= elseif T<70 disp('Medium'})
8- elseif T<80 disp('Good')
g - elseif T<5%0 disp('Very Good')
10 — glse ; disp('Excellent')
11 = end

Command Window
>> mark
please input the mark of monthly exam=35
please input the mark of finmal exam=50
Very Good

ans =

85

o\°

This program to estimating the average marks of students
M=the mark of monthly exam
F=the mark of final exam

o oo

function T=mark2 (M, F)
T= M+F;
if T<50; disp('Poor')
elseif T<60 disp('Accepted')
elseif T<70 disp('Medium')
elseif T<80 disp('Good")
elseif T<90 disp('Very Good')
else ; disp('Excellent')
end

Command Window

> marka2
Hot enough input arguments.

Error in mark?2 (line &)
T= M+F:

=» T=mark2 (35,50}
Very Good

@
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inline function -1
handle function -2
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inline function alaaiuls f(x)=sin(x) Al dulall e+ 1JGa
command window 33U & i< |
>>f =inline ('sin(x)',' x ')

Jall dakaia ‘;ﬂ\ﬂ\ﬁ;éﬂl[ﬁnter Cm&;m ZL R

Inline function:
f( x) = sin(x)
:sin(rm) S dimae dad die Allal) dad Cluad
>> f(pi)
ans =
1.2246 € -16 i (sl Ly i
inline Al alaaidy y(x, t) = e®FD Al GOl G e 12JUa
command window 53U & i< | i
>>y=inline(' exp(x+t)', ' x ', 't")
Enter gl e bl o
y=

Inline function:



y( X, t) = exp(x+t)
handle function alaaiuls f(x)=x>+2x+1 Al oLl o e : 3L
command window 33U & i< || iz
>>f = @(x) (x"2+2*x+1)
Enter zU& Je b
f=
function-handle with value:
@(x)(x"2+2*x+1)
>> f(1)
ans =
4
:feval function axiill jlay

les 5 handle sl inline 412 Gask Ge Wil &5 Al A 8 ) jaiall o (o gad e Jla¥) 138 Jeny
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>> feval(f,pi/2)
ans=

1

>> feval(y,pi/2, 2)
ans=

35.5449

inline function sl 40 J) sall CludaY ey iS) // 10



f(x) = xcos(x), for x =45
f(x) =cos?(2x), forx=m
handle function alaaiuly 4060 J)sall luial zali 0 iS) // 20

e—x
y(x) =g. forx =4

flw,t) = Acos(wt), forA=5 w=10, t=3



